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WYKAZ WSPÓŁRZĘDNYCH PUNKTÓW:

P1   Y=7399219.41  X=5719629.53

P2   Y=7399215.52  X=5719637.81

P2'  Y=7399219.53  X=5719652.75

P5'  Y=7399221.53  X=5719660.17

P5   Y=7399230.02  X=5719691.81

P3   Y=7399207.84  X=5719655.41

P4   Y=7399184.39  X=5719703.86

P4'  Y=7399177.02  X=5719699.86

P6   Y=7399164.33  X=5719650.19

1     Y=7399222.13  X=5719630.80

2     Y=7399219.30  X=5719636.82

3     Y=7399218.76  X=5719638.84

4     Y=7399218.94  X=5719640.92

5     Y=7399220.19  X=5719645.59

6     Y=7399222.52  X=5719648.62

7     Y=7399226.32  X=5719649.12

8     Y=7399228.29  X=5719648.59

9     Y=7399229.20  X=5719651.97

10   Y=7399227.23  X=5719652.50

11   Y=7399224.20  X=5719654.83

12   Y=7399223.70  X=5719658.62

13   Y=7399224.79  X=5719662.68

14   Y=7399225.25  X=5719663.28

15   Y=7399226.01  X=5719663.38

17   Y=7399233.57  X=5719678.02

18   Y=7399230.19  X=5719678.93

19   Y=7399229.58  X=5719679.40

20   Y=7399229.48  X=5719680.16

21   Y=7399229.69  X=5719680.93

22   Y=7399230.15  X=5719681.54

23   Y=7399230.91  X=5719681.64

24   Y=7399234.29  X=5719680.73

25   Y=7399235.49  X=5719685.17

26   Y=7399232.11  X=5719686.08

27   Y=7399231.50  X=5719686.54

28   Y=7399231.40  X=5719687.30

29   Y=7399233.27  X=5719689.73

30   Y=7399236.30  X=5719690.13

31   Y=7399239.20  X=5719689.35

32   Y=7399225.68  X=5719692.98

33   Y=7399226.89  X=5719692.04

34   Y=7399227.09  X=5719690.53

35   Y=7399216.65  X=5719651.64

36   Y=7399214.86  X=5719650.16

37   Y=7399212.88  X=5719651.36

38   Y=7399210.55  X=5719656.70

39   Y=7399192.42  X=5719694.15

40   Y=7399193.00  X=5719698.98

41   Y=7399197.63  X=5719700.46

42   Y=7399211.19  X=5719631.31

43   Y=7399212.49  X=5719636.16

44   Y=7399212.55  X=5719636.83

45   Y=7399212.39  X=5719637.48

46   Y=7399205.12  X=5719654.14

47   Y=7399204.71  X=5719655.00

48   Y=7399204.23  X=5719655.28

49   Y=7399203.78  X=5719654.95

50   Y=7399202.89  X=5719652.37

51   Y=7399199.11  X=5719653.69

52   Y=7399199.92  X=5719656.03

53   Y=7399197.59  X=5719656.84

54   Y=7399198.40  X=5719659.18

55   Y=7399196.06  X=5719659.99

56   Y=7399196.87  X=5719662.33

57   Y=7399194.54  X=5719663.14

58   Y=7399195.35  X=5719665.48

59   Y=7399193.01  X=5719666.29

62   Y=7399192.30  X=5719671.78

63   Y=7399189.96  X=5719672.59

64   Y=7399190.77  X=5719674.93

65   Y=7399188.44  X=5719675.74

66   Y=7399190.77  X=5719682.45

67   Y=7399190.88  X=5719683.22

68   Y=7399190.68  X=5719683.98

69   Y=5719691.44  X=7399187.07

70   Y=7399182.07  X=5719694.23

71   Y=5719690.50  X=7399177.72

72   Y=7399171.55  X=5719666.33

73   Y=7399169.84  X=5719659.63

74   Y=7399167.27  X=5719649.59

75   Y=7399199.85  X=5719642.97

76   Y=7399194.13  X=5719654.79

77   Y=7399190.39  X=5719662.51

78   Y=7399177.52  X=5719689.10

z1   Y=7399223.69  X=5719656.98

z2   Y=7399224.42  X=5719657.84

z3   Y=7399230.36  X=5719656.25

z4   Y=7399231.13  X=5719659.14

z5   Y=7399225.20  X=5719660.74

z6   Y=7399224.68  X=5719661.72
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